£ 4

BTFOBWZEZ &, =720, (1) IZ2VWTE, BHROAZEITIIE,
(1) n 2 EDBHLL,3"%2 10 TH =RV 20, LT D, as XKD &,
(2) n ZEOBEL L, 3" % 4 TH LRV £ b, 2T B, b ERD K,
(3) %Fl {z,} RO &S ZED B,

21=1 2z,n=3" (n=123,-")

T10 % 10 CElo =R 2RD &,



(1)

m=|ars 3'=3 - UPLEAY Q=3
e e S %=L me 47
Med o 3G wee- . Oy=
Mosd % BEF f--- y ho= |
n=5% « 352243 ---- ¥ fe= 3
=g b G s Z g

it 3" 3" e BReSmA a3,
MR My 3% L 3™ 9] = 3™ (3041 )= 3 X (1DX8+1)
~Wxgx3"+3"
T

' . 10485 (107" |34 0)
F3e 3" 0V, AR 0T RLEA YA G CLizepthas,
23 RYo BIER 41 H3en%D,
ct;ﬁ'(~ f=0,1 2,3----kL™

N=4%+ | av3  QOw=3

N=4R+2 2¢5  Qu=1

N=4F+3 a%¥  (ln=1

n =4k+4 0ttt (o= | R



A I PR
N=F = Feg " 2 b =1
n=3 §len] e g bs=3
n=4 » 3*=9] ---- " be=1
n=5 n 32243 ---- ‘ b=
N=6 »  3*=129 ---- = by =i

221 3" 3™ o PR FRANeE.
3M1+z= 3,mx 3:.= 3fqu _ 3"")((8“"): 3’*){(4)(2‘%! )

= 4x2x3™+ 3P
L/——\/—\/

4 ABHC (47 B340 0)
T3¢ Mt 4B tH ) e 3" 4%%[9&@!)»\“\%Lu:'nd‘rbzz}e,
-3 Funl BRI 2 THB e UR D,
qfﬂ. R=0,1,2,3, - By L

M= 28+4] axi  ba=3

n=2R+20%%  ba=| e 53,



(3)

Xy=1 - 10 BLERY |
A \

Ay = =3 = B ke 42 3

X3 :312‘:33: 27 - —- - 7 9

X4 =3%=3

' An

Ly = 3

| X

Xq=3"

Iw=3x‘r

" 1’” Qe W ~
vt 3hedterd X =3 F) Lnnd FRTIIE VI,

R Ao =30 RS X 13 3afTE N hadnd” & 913 (1) o FERSEL.
%07 Ay & CALGE 6E Frhd F U,
Xq = 319 e ,1d Y, taXg 1T %’Zﬁﬁﬁﬁ“n\&
£=0,1,2,3 ---- kL1
Xg = 3:§+\
LRt 3,
T3 Qo BRE). X173 4TB3R) 2" 3 tH3 A haS,
> 7 ﬁzo,l,z,}-—-—ttz
Xg=4k+3
Lt 2,1
Xy =3

c 3 (1) o FER £ A4B. T

4R+3

o 12 10T B 3¢ [ A3

NANAANV YV



(1)

M=\ ory 3 =3 -0 TRLEARY Q=3

N=2 w 3= - / s=9 mgh g 4
n=3 ~ 3.5 -- 3=

n=4 « Fr=g] =--- Z Ra= |

MN=8 & 3=243 == Z fie= 3

ns=4¢ 7 LI L, ” Og= §

Z.4" 3"y BWMO‘ RR % « SE A 123,
3" = 3% 3% = 3" x gl = 3K (8041 )= 3K (0X8+1)
=gt
P o 1oa BB (107B 3RO )
F3e 3" 0V AR ITRI0TRLEQ TG (Lizepihas,
gy RYoe BIER A 41753 033,
§1. REABE v
N=4k-3 arz (n=3
N=4R-2 avs  Qu=9
M= 4R~ avl (=1

n=4fk ori Anm= | e 3,



3

M=l oz 3'=3 --oo 47, LA bi=3 - B
N=9 31:9 b =] } BlBR 17 2 !
n=3 3s2] e g b;=3
n=4 . 3t-9l ---- “ b= |
n=5 # 3%- 243 ---- " be=3
f=6 » 3'=12% ---- ‘e bg =1

31" 3M1 ¢ 3™ o PELIE & Fan 1913,
372 3" 3= 3" =3"x(9+1) = 3"K(4x2+1)

= gax2¥3™+ 7
W\/

AABET (4~ Blze R 0)

T3t 3™ 4T BLE RN 3" 4T RLERUALF oz ad,

23 g RERA2 T HB e R,
F51,., RE SR G
N=28-] axy  bm=3

n=28 ovys bap=| e 33,



&3

=1 s 0T R EFD
Hhoe G EE B e g 3
X3=37=3 =21 ---- g T
gt e m ] e 2
13=317

Xq=3xs

P SRS

Lo e N
L1 33 BB kT Apu=3 &1 An 13 GHTHIE 0,
SRle . Xyp= 3 S Tptd BofqEssihadiin” (1) FER A B3,
i Lg 7 CABEH 535 E’Tf\z\ NI

La=3F=(a-1) ={4+<—|)} ZC4 g m@

C4+C4 \)+C4 (

13 D Aq )

42 1E H
Fot Ag 1 4oRE "",l ‘kh,TL 3PS \cm\“"rbb\-,T:m*c"
Lom T oy BramA LT 2o=3"

48 (1) o FEREY, L2 (00U R]3 % m



